
lo
k

.1
1

N
A

Z
W

A
P

R
O

J
E

T
K

U
:

N
A

Z
W

A
 R

Y
S

:

IN
W

E
S

T
O

R
:

D
A

T
A

P
R

O
JE

K
T

A
N

T

S
K

A
L

A
P

O
D

P
IS

Z
E

S
P

Ó
Ł

 P
R

O
JE

K
T

O
W

Y

N
R

 R
Y

S
.

2

0
2

.0
4

.2
0

2
4

1
:1

0
0

P
R

O
JE

K
T

A
N

T
S

P
R

A
W

D
Z

A
JĄ

C
Y

M
IR

O
S

Ł
A

W
 Ś

M
IG

IE
L

S
K

I
u

p
r. 1

6
7

/ W
a

/7
4

M
A

R
IU

S
Z

 L
A

S
K

O
W

S
K

I
u

p
r. M

A
Z

/ 0
4

7
0

/P
O

O
S

/0
5

S
A

N
0

7 4
0

0 m
m

[7
1

4
×

4
0

0
×

1
0

0
]

Φ
H

=
1

9
6

 W

D
N

 1
5

1
,5

0

9
,1

3
 m

²
+

2
0

 °C
9

0
9

 W

7
.1

C
V

2
2- 6

0
0 8

0
0 m

m
[6

0
0

×
8

0
0

×
1

0
2

]
Φ

H
=

9
0

9
 W

3
,0

0

C
V

2
2- 6

0
0 1

1
00

 m
m

[6
0

0
×

1
1

0
0

×
1

0
2

]
Φ

H
=

1
3

8
7

 W

4
,00

1
7

,1
6

 m
²

1
2

8
7

 W
+

2
0

 °C

7
.2

C
V

2
2

- 6
0

0
 8

0
0 m

m
[6

0
0

×
8

0
0

×
1

0
2

]
Φ

H
=

9
0

9
 W

9
,1

3
 m

²
+

2
0

 °C
9

0
9

 W

1
1

.2

S
A

N
0

7
 4

0
0 m

m
[7

1
4

×
4

0
0

×
1

0
0

]
Φ

H
=

1
9

6
 W

C
V

2
2

- 6
0

0
 6

0
0 m

m
[6

0
0

×
6

0
0

×
1

0
2

]
Φ

H
=

6
8

1
 W

7
,1

4
 m

²
+

2
0

 °C
9

0
9

 W

1
1

.1

C
V

2
2

- 6
0

0
 9

0
0 m

m
[6

0
0

×
9

0
0

×
1

0
2

]
Φ

H
=

1
0

1
0

 W

C
V

2
2

- 60
0

 6
0

0 m
m

[6
0

0
×

6
0

0
×

1
0

2
]

Φ
H

=
6

8
1

 W

7
,1

4
 m

²
+

2
0

 °C
9

0
9

 W

1
1

.4
1

1
,1

2
m

²
+

2
0

 °C
9

0
9

 W

1
1

.3

3
,0

0
3

,0
0

3
,0

0
3

,0
0

1
,5

0

2
0 x

 2 ,2
5

2
0 x

 2 ,2
5

2
0 x

 2 ,2
5


